Monday- 5 a day

144 + 12
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51-0.8

80
80
70

B0
50

40
30
20
10
0

Number of children

A teacher recorded how the students
travelled to school every morning.
The bar chart shows the results.

How many children travelled by car?

Cycle Car

Bus

Walk

Benjamin said “twice as many children
travel by car than bus.”

Is he right?

Find the missing numbers

+5 +10 + 15 + 20

302




Tuesday- 5 a day
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2,056 + 362 138+ 6
4,837 fans watched a football match
between AFC Telford and Lincoln City.
Round 4,837 to the nearest 100
Caravan i
name Sleeps Decking Price
Flamlr;g; - 2 Yes £345
Albatross 4 Yes £529
-'iggguin 6 Yes £559
Pelican 4 No £475
Seagull 8 No £699

Which down the name of the caravan that
sleeps 4 and has a decking

How many caravans sleep 8 people?
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Wednesday- 5 a day

90,000 — 800 3500 = 100

A song lasts 2 minutes 45 seconds. £e.. ;/Q %

How long does the song last in seconds? \

How many hours of sunshine did Paris
have?

Paris

Cork

Lendon

Swarsea

Key = 4 hours

Which city had the least amount of How many more hours of sunshine did
sunshine? Cork have than Swansea?
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Thursday- 5 a day

L5 &

187 + 408 + 620 16 X3 =4X

Circle the angle that is obtuse

35° 56° 88° 91°

What percentage of the shape is shaded?

Kayleigh has 50 pence, 20 pence and 10 P 7

i ] \ A . f -
pence pieces. S TRAY Y
I & : g
She has 12 of each type of coin. '

How much money does she have in total?




Friday- 5 a day
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yEe

0.6+ 0.6+0.6

7—11

Ttaly
60,656,000

Spain
46,373,068

—

Turkey
81,252,418

France

65,089,744

Thailand
69,183,173

Which country has the highest population?

population?

Which country has the smallest

What is the value of the digit 7 in
Thailand's population?

Mr Jenkins has £9 561.

He buys a new car that costs £7,750.

How much money does he have left?
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Task 2
1) a) Complete the diagram to show the pairs of numbers that
multiply to make 12
{ 1x12
3x { 2x
List all the factors of 12
b) Draw a similar diagram to show the pairs of numbers that
multiply to make 24
List all the factors of 24
2) Alex arranges 16 counters in different ways.

She is trying to work out some factors.

a) Use the array to complete the sentence.

and ire both factors of 16




3)

4)

YEAR 5 - MATHS HOME LEARNING

Alex rearranges the counters.

How does this array show that 5 is not a factor of 16?

a) List all the factors of 32

b) How can you check that you have found all the factors?
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Task 3

1)
a) Circle the factors of 30

B 15 25 3 30 4 2 12

b) These numbers are all factors of a 2-digit number.
1 3 - 9

What could the number be?

Amir and Eva are describing numbers using factors.
2)

The number 11
does not have
any factors.

My number
lies between 20

and 25. It only has
two factors.

a) Is Amir correct?

Explain your answer.

60

Answer

b) What number is Eva thinking of?
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3)

Which number has the most factors? Tick your answer.

4) True or false?

64

Answer

438

’”

e

2 and 5 are factor pairs of 10. True or false?

3 and 6 are factors of 15. True or false?

7

e

7 and 2 are factor pairs of 72. True or false?

0 and 3 are factor pairs of 30. True or false?

5)

Is this statement always, sometimes or never true?

A number will always have an even number of factors because

factors come in factor pairs.

Answer and explanation




Challenge
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1) Canyou find the abundant numbers up to 100?

2)

The abundant numbers | have
found are:

J10

To find the factors of a number, you have to find all the pairs of numbers that
multiply together to give that number.

The factors of 48 are:
1 and 48

2and 24

3 and 16

4 and 12

6 and 8

If we leave out the number we started with, 48, and add all the other factors, we
get 76:

1+24+34+446+8+124164+24=76

So .... 48 is called an abundant number because it is less than the sum of its
factors (without itself). (48 is less than 76.)

See if you can find some more abundant numbers!

How do we know that these statements are true?

a) 5 is a factor of 195 but not a factor of 196

b) 3 is a factor of 177 but not a factor of 178

¢) 20 is a factor of 180 but not a factor of 190
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ANSWERS
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travelled to school every morning.

Monday

144 = 12 5.1—-08
..r L]
£

- 0-%
Y3
2 G4-3
A teacher recorded how the students How many children travelled by car?

The bar chart shows the resuits.

% — (O
B —
5 70} -
5 o0|— —
e 50 - Benjamin said “twice as many children
g 40 | |__|travel by car than bus.”
E 30— et = )
- i [ |Is heright? No

10 - L i . " )

0 (30 5 2 — SC

Cycle Car Bus Walk kS ¢ skodabs bc_k bus

Find the missing numbers

+5 +10 +15 +20
X OO N )
272] |177] [187] | 302] | 321
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Tuesday
2,056 + 362 138 =6
11056 o013
+ 362 e\1'3's
illY
74\ 9 178
4,837 fans watched a football match
between AFC Telford and Lincoln City. .
G4, OO
Round 4,837 to the nearest 100
[ Caravan
Sams Sleeps Decking Price
Flamingo 2 Yes | £345 |
Albatross 4 Yes £529
Penguin 6 V_GS_ . _:E?59 _
Pelican 4 No £475
Seagull 8 No £699
Which down the name of the caravan that | How many caravans sleep 8 people?
sleeps 4 and has a decking
A\\)(\L eSS
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Wednesday
90,000 — 800 3500 + 100
3 q,
4% 0c ©
=i §oo©
gq 2100
FH4LeO
A song lasts 2 minutes 45 seconds. ) ~
How long does the song last in seconds? S
7. X660 = \1© .
170 +us = 16S 16§ Secunds

How many hours of sunshine did Paris
have?

| | (O hoes
soress) L > A .
[ O cabors ]
Which city had the least amount of How many more hours of sunshine did
sunshine? Cork have than Swansea?
L_OGAQ.’\ L= 9= %

p—
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Thursday
187 + 408 + 620 16 xX3=4X]| (L
£l2le IRRNRSEE
w9
A8 K G!9 |7 W=t 2
{21V |6
Z15 A
Circle the angle that is obtuse

e
35° 56° 88° &931/

What percentage of the shape is shaded?

SBY

Kayleigh has 50 pence, 20 pence and 10
pence pieces.

She has 12 of each type of coin.

How much money does she have in total?
£q-60

0 xig= 120
Lo XL WO
Sox\u T 6O

qbop
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Friday
0.6 +0.6+0.6 7—11
|- 9 — &
Ttaly Spain Turkey Which country has the highest population?
60,656,000 | | 46,373,068 || 81,252 418
il
France Thailand 4 / kf\,
65,089,744 69,183,173
il e
Which country has the smallest What is the value of the digit 7 in
population? Thailand's population?
Seain —0
Mr Jenkins has £9,561. L 2
a4 S 6\
He buys a new car that costs £7,750.
" - 7 7S©
How much money does he have left? g 1)
\

£(Q\
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Task 2

a) Complete the diagram to show the pairs of numbers that
multiply to make 12

1x12

3x [ 2x b

List all the factors of 12

,2,3 L,6,12

b) Draw a similar diagram to show the pairs of numbers that
multiply to make 24

| x4

List all the factors of 24

,2,3,6,6,%9,12,34
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2)
Alex arranges 16 counters in different ways.
She is trying to work out some factors.
a) Use the array to complete the sentence.
9 |and| % |are both factors of 16
) Alex rearranges the counters.
3)
00000
00000
00000
@
How does this array show that 5 is not a factor of 16?
The ‘bo(&:o‘w\ oW sk c¢ mlrﬂnl_z
a) List all the factors of 32
4)

b) How can you check that you have found all the factors?

Use counters to arrange 32 in different arrays.

Check against the times tables
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Task 3
1)
a) Circle the factors of 30
5@ 5 G® @ n 6
b) These numbers are all factors of a 2-digit number.
1 3 5 9
What could the number be? LS
2) Amir and Eva are describing numbers using factors.

The number 11
does not have
any factors.

My number
lies between 20
and 25. It only has
two factors.

Eva
a) Is Amir correct? MO
Explain your answer.
EAE so lond |\ ore cachys
b) What number is Eva thinking of? a3

Which number has the most factors? Tick your answer.

7 64 4§/
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4)
' — i
2 and 5 are factor pairs of 10. True or false? T 3 and 6 are factors of 15. True or false? F
. v .
7 and 2 are factor pairs of 72. True or false? | F |10 and 3 are factor pairs of 30. True or false? | T
.\ >

5)
) Is this statement always, sometimes or never true?

A number will always have an even number of factors because
factors come in factor pairs.
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Task 3- Answers

1) 4
£
34
5
64
5
94
not abundant numbers
perfect numbers
abundant numbers
There are twenty two abundant numbers on our 100 square.
2)

How do we know that these statements are true?

a) 5 is a factor of 195 but not a factor of 196

e~ = "~ il '~ 2 Q¢ i
1S ends in 5 SO S s oo paochw 6 s oe

more. Yhon o mulbol o S so S wnt a coctur

b) 3 is a factor of 177 but not a factor of 178

*+*F+3F =(S IS S o l‘!\L,L\,t\g\g o. 2 30 3

S o focmrof \37F SUnoe(ge WOk o cochor of (38
¢) 20 is a factor of 180 but not a factor of 190

130 <20 | \ 90 s 10 mae Wan (B8O

SO L0 Cant “be o cocko




